Group B Friday 2 times table

Work out these answers:

a)1x2= g)2x2=
b)3x2-= h) 4 x2 =
0)5x2= )6x2=
d) 7x2= )8x2-=
e) 9 x2-= k) 10 x 2 =
f)11x 2 = ) 12x2 =

Complete the array and times-table fact so
that they match.
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a) Complete the number line.




' Complete the number sentences.
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Teddy has £8

f)

g) 2 x

h) 2 x 0 =

i) 14 =2 x

=12 x 2
=2
x 2 =22

Rosie has twice as much money as Tedduy.

How much money does Rosie have?

Rosie has £

Dexter has 6 apples. Tiny has twice as many.

How many apples does Tiny have?




